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ICCP text message use case

July 23, 2009

1. ICCP text message use cases
These use cases describe how the EMS requirement GS-FR28 will be implemented in view of a text message transfer not being supported by the current ICCP implementation. These use cases cover situations when telemetered HSL is different from Net Dependable Capability (NDC), and when LSL is higher than the Low Reasonability Limit (LRL).  
1.1. HSL different from NDC Use Case
Requirements Cross Reference:

GS-FR28
Pre-conditions:

QSE detects a condition where HSL is different than NDC.
Post-conditions: 
A text reason for the same resource and start time received and processed by ERCOT 
Actors:
ERCOT Operator, Qualified Scheduling Entities (QSE), ERCOT EMS Resource Limit Calculator (RLC)
Basic Flow
1. QSE sends a new HSL value via ICCP
2. QSE sends a text reason and the new HSL value via ERCOT messaging system referencing the resource name and the time of HSL change.
3. RLC application detects the ICCP HSL value is different  from NDC
4. RLC  searches for  a valid text reason from the messaging system
5. RLC finds a valid text reason

6. RLC issues a return to normal alarm if there is an existing alarm for this event
7. RLC uses telemetered HSL in its processing
8. The use case ends
Alternative Flows:

5a. RLC does not find a valid text reason 

1. RLC issues or updates an alarm to the ERCOT operator
2. RLC issues or updates alert to the QSE operator

3. QSE operator notices the alert and enters a text reason
1.2. LSL higher than LRL Use Case
This use case parallels the use case for handling HSL messages, with the exception that only LSL higher than Normal Low Limit (LRL) is subject to the Text Message requirement. 

Requirements Cross Reference:

GS-FR28

Pre-conditions:


· QSE detects a condition where LSL is higher than LRL

Post-conditions: 

· A text reason for the same resource and start time received and processed by ERCOT 

Actors:
ERCOT Operator, Qualified Scheduling Entities (QSE), ERCOT EMS Resource Limit Calculator (RLC)
Basic Flow

1. QSE sends a new LSL value via ICCP

2. QSE sends a text reason and the new LSL value via ERCOT messaging system referencing the resource name and the time of LSL change.

3. RLC application detects the ICCP LSL value is higher than LRL
4. RLC  searches for  a valid text reason from the messaging system

5. RLC finds a valid text reason

6. RLC issues a return to normal alarm if there is an existing alarm for this event

7. RLC uses telemetered LSL in its processing

8. The use case ends

Alternative Flows:

5a. RLC does not find a valid text reason 

1. RLC issues or updates an alarm to the ERCOT operator

2. RLC issues or updates alert to the QSE operator

3. QSE operator notices the alert and enters a text reason 

4. The use case returns to Basic Flow step  6

5. The use case returns to Basic Flow step  6[image: image2.emf] 
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